BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024
LJA ENGINEERING, INC.
D. FORREST
AUGUST 20, 2024
1968-40001 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1	BID INCLUDING ALTERNATE BID NO. 2	
1) ICON GC LLC	\$1,070,000.00	\$1,095,476.00	\$1,397,448.00	
2) PRECISE SERVICES INC.	\$1,080,521.15	\$1,103,391.65	\$1,354,534.40	
3) DURWOOD GREENE CONSTRUCTION CO.	\$1,090,595.00	\$1,131,125.00	\$1,252,675.25	
4) LEXTON CONSTRUCTION, LLC	\$1,115,202.80	\$1,130,256.80	\$1,357,908.05	
5) HCG	\$1,125,701.85	\$1,148,861.85	\$1,476,268.85	
6) R CONSTRUCTION CIVIL, LLC	\$1,126,222.00	\$1,184,122.00	\$1,296,602.25	

CALENDAR DAYS - 30/40

Hamanda Carriage, P.E., hereby certify these bid tabulations to be true and correct.

AMANDA CARRIAGE

105912

CENSE
ONALLER

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024
LJA ENGINEERING, INC.
D. FORREST
AUGUST 20, 2024

1968-40001 (9.2)

				1) ICON GC LLC		2) PRECISE SERVICES INC.		3) DURWOOD GREENE CONSTRUCTION CO.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING	ITEMS - SECTION 1								
1 F	ULL CONSTRUCTION STAKING OF PAVING ITEMS, COMPLETE IN PLACE	LS	1	\$13,250.50	\$13,250,50	\$9,750.00	\$9,750.00	r^1,00L	\$20,000.00
2 6' S	REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE TRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	14105	\$48.50	\$684,092.50	\$51.00	\$719,355,00	. 70	\$733,460.00
3 6°	LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES OMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	15865	\$4.20	\$66,633.00	\$4.90	\$77,738.50	\$4.00	\$63,460.00
D	ME FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 6" EPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL NGINEER, COMPLETE IN PLACE	TON	144	\$350.00	\$50,400.00	\$340.00	\$48,960.00	\$391.00	\$56,304.00
LE	.Y ASH MIXTURE FOR SUBGRADE STABILIZATION (8% FLY ASH BY WEIGHT, 42 9/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY EOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	334	\$140,00	\$46,760.00	\$135.00	`45,090.00	\$132.00	\$44,088.00
	X 12" REINFORCED CONCRETE CURB, (PER MONTGOMERY COUNTY PECIFICATIONS), COMPLETE IN PLACE	LF	4942	\$4.00	\$19,768.00	\$4.2	1,003.50	\$4.00	\$19,768.00
7 6" SI	REINFORCED CONCRETE CURB (PER MONTGOMERY COUNTY PECIFICATIONS), COMPLETE IN PLACE	LF	2854	\$4.00	\$11,416.00	\$4	\$12,129.50	\$4.00	\$11,416.00
IN	ERMANENT TRAFFIC CONTROL DEVICES AS PER DETAILS ON THE PLANS, CLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT TRIPING, MARKER, ETC., COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$10,7vv.	\$8,400.00	\$21,000.00	\$21,000.00
9 4" LC	SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT XXATION, COMPLETE IN PLACE	EA	11	\$16.00	\$1~9,00	\$17.50	\$192.50	\$20.00	\$220.00
10 W	HEELCHAIR RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	16	\$1,550,00	1,80 ,0	\$1,800.00	\$25,600.00	\$1,600.00	\$25,600.00
11 E	CTRA SIGN, COMPLETE IN PLACE	EA	1	\$500.00	\$. nr	\$650.00	\$650,00	\$100.00	\$100.00
12 R	EMOVE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$10,00	*40.00	\$100.00	\$400.00	\$10.00	\$40.00
13 FI	NAL GRADING OF ALL LOTS, RESERVES AND ROADWAY AS PER GRADING PLAN, OMPLETE IN PLACE	LS	1	\$38,000	\$38,000.00	\$26,500,00	\$26,500.00	\$20,000.00	\$20,000.00
	ONNECT PROPOSED 6" CONCRETE PAVEMENT TO EXISTING 6" PAVEMENT, OMPLETE IN PLACE	LF	112	5'	\$112.00	\$33.50	\$3,752.00	\$10.00	\$1,120.00
R. PL M/	DMMON ROADWAY, R.O.W., AND LOT EXCAVATION TO BE USED FOR ONSITE O.W. AND LOT FILL (PER GRADING PLAN), INCLUDES EXCAVATION HAULING, ACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH AXIMUM 8° LIFTS (WITHIN 0.5 MILES OF COLTON OVERALL DEVELOPMENT MITS), COMPLETE IN PLACE	CY	12693	\$7	\$95,197.50	\$5.55	\$70,446.15	\$5.00	\$63,485.00
SH LC AE TC IN	ONTRACTOR TO PROVIDE AS BUILT SURVEY AT THE END OF CONSTRUCTION OWING ELEVATIONS AT THE TOP OF CURB, ROW, BUILDING LINE, BACK OF 10T, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES (NO IDITIONAL PAY FOR REMOBILIZATION OF DIRT EQUIPMENT UNTIL THE LOTS IE ACCEPTED BY THE DEVELOPER. IF THE LOTS ARE NOT BUILT ACCORDING ITHE GRADING PLAN, THEY WILL BE REGRADED AT NO SEPARATE PAY), CLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, ORDINATE WITH LIA ENGINEERING, INC., BENJAMIN LOWE, 713.953.5293 ONLY IDIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS		\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00

PAVING ITEMS - SECTION 1 SUBTOTAL:

\$1,067,645.50

\$1,079,967.15

\$1,090,041.00

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLLTON SECTION 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024
LJA ENGINEERING, INC.
D. FORREST
AUGUST 20, 2024
1968-40001 (9.2)

				1) ICON G	ec frc	2) PRECISE SE	RVICES INC.	3) DURWOOD GREENE	CONSTRUCTION CO.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS	S								
1 STANDARD DEDU BY THE OWNER),	CT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED COMPLETE IN PLACE	HR	0	-\$100.00	\$0.00	-\$100.00	\$0.00	\$100	\$0.00
2 STANDARD DEDU BE USED ONLY AS	CT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO S DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00		\$0.00
3 RE-ESTABLISH OV GRADING, (TO BE PLACE	/ERFLOW SWALE, INCLUDES EXCAVATION HAULING AND USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN	LF	277	\$8.50	\$2,354,50	\$2.00	\$554.00	\$2.00	\$554.00
MISCELLANEOUS ITEMS	S SUBTOTAL:				\$2,354.50		apu4,61		\$554.00
ALTERNATE BID NO. 1									
1 REMOVE AND DIS ROAD, COMPLETE	POSE OF EXISTING 15' WIDE CRUSHED LIMESTONE ACCESS EIN PLACE	SY	5790	\$4.40	\$25,476.00	\$3.95	7.870,5	\$7.00	\$40,530.00
ALTERNATE BID NO. 1	SUBTOTAL:				\$25,476.00		∡,870.50		\$40,530.00
ALTERNATE BID NO. 2									
ROOTS, CHIPPING	G AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND G OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$10,000.00	\$10,000.00	, 000.0	\$15,000.00	\$1,000.00	\$1,000.00
(REINFORCING, TE WITH MONTGOME	COST FOR 5-1/2 SACK CONCRETE FOR 6-INCH PAVEMENT ESTING, AND ANY OTHER APPURTENANCES, IN ACCORDANCE ERY COUNTY SPECIFICATIONS), (TO BE USED ONLY AS ENGINEER), COMPLETE IN PLACE	SY	14105	\$5.00	\$70,525.00	\$1.95	\$27,504.75	\$1.05	\$14,810.25
INCLUDES COMPA	ME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), ACTION TO 95% MODIFIED PROCTOR DENSITY, (TO BE USED ED BY THE ENGINEER), COMPLETE IN PLACE	SY	15865	\$4.20	6,632	\$4.90	\$77,738.50	\$2.00	\$31,730.00
PER 6" DEPTH), AS	FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY S REQUIRED BY SOIL CONDITIONS AND APPROVED BY INGINEER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), ICE	TON	127	\$350.00	`450.∪J	\$340.00	\$43,180.00	\$200.00	\$25,400.00
WEIGHT, 42 LB/SY APPROVED BY GE	ASH MIXTURE FOR SUBGRADE STABILIZATION (8% FLY ASH BY PER 6** DEPTH), AS REQUIRED BY SOIL CONDITIONS AND OTECHNICAL ENGINEER, (TO BE USED ONLY AS DIRECTED BY COMPLETE IN PLACE*	TON	334	3140 ∩ 1	\$46,760.00	\$135.00	\$45,090.00	\$110.00	\$36,740.00
STABILIZED SAND CONDITIONS AND	ENT STABILIZIED FOR SUBGRADE STABILIZATION (6% CEMENT BY WEIGHT, 33 LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL APPROVED BY GEOTECHNICAL ENGINEER, (TO BE USED ONLY THE ENGINEER), COMPLETE IN PLACE	TON	262	\$340.00	\$89,080.00	\$250,00	\$65,500.00	\$200.00	\$52,400,00
ALTERNATE BID NO. 2 S	UBTOTAL:				\$327,448.00		\$274,013.25		\$162,080.25
BIDDING SUMMARY									
SUBTOTAL PAVING ITEM	S - SECTION 1				\$1,067,645,50		\$1,079,967.15		\$4,000,044,00
SUBTOTAL MISCELLANE					\$2,354.50		\$1,079,967.15		\$1,090,041.00
TOTAL AMOUNT BASE B	HD .				\$1,070,000,00				\$554.00
ALTERNATE BID NO. 1					+ 1,0.0,000,00		\$1,080,521.15		\$1,090,595.00
TOTAL AMOUNT BASE BII	D				\$1,070,000.00		£1 000 524 47		P4 000 F0F
SUBTOTAL ALTERNATE E					\$25,476,00		\$1,080,521.15		\$1,090,595,00
	HNG ALTERNATE BID NO. 1				\$1,095,476.00		\$22,870,50		\$40,530.00
					41,043,410,00		\$1,103,391.65		\$1,131,125.00

BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1 MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024 LJA ENGINEERING, INC. D. FORREST AUGUST 20, 2024 1988-40001 (9.2)

1) ICON GC LLC

2) PRECISE SERVICES INC.

3) DURWOOD GREENE CONSTRUCTION CO.

ITEM

DESCRIPTION

UNIT

QTY

UNIT COST

TOTAL COST

UNIT COST

TOTAL COST

UNIT COST

TOTAL COST

ALTERNATE BID NO. 2

TOTAL AMOUNT BASE BID

SUBTOTAL ALTERNATE BID NO. 2

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 2

\$1,070,000.00 \$327,448.00 \$1,397,448.00 \$1,080,521.15 \$274,013.25

\$1,354,534.40

\$1,090,595.00 \$162,080.25

\$1,252,675.25

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1 MAGNOLLA WOODS MUNICIPAL UTILITY DISTRICT NO. 2 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024
LJA ENGINEERING, INC.
D. FORREST
AUGUST 20, 2024
1988-40001 (9.2)

4) LEXTON CONSTRUCTION, LLC

5) HCG

6) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TAL COST
PAVING ITEMS - SECTION 1									
1 FULL CONSTRUCTION S	TAKING OF PAVING ITEMS, COMPLETE IN PLACE	LS	1	\$7,585.00	\$7,585.00	\$20,000.00	\$20,000.00	\$5, 3.00	£5,400.00
	RETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE S CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	14105	\$53.00	\$747,565.00	\$49.25	\$694,671.25	\$55,L	\$775,775.00
3 6" LIME-FLY ASH STABIL COMPACTION TO 95% M	IZED SUB-GRADE (MANIPULATION), INCLUDES IODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	15865	\$3,60	\$57,114.00	\$6.10	\$96,776.50	. >0	\$79,325.00
4 LIME FOR SUBGRADE S DEPTH), AS REQUIRED I ENGINEER, COMPLETE	TABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 6° BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL IN PLACE	TON	144	\$413.00	\$59,472.00	\$365.00	\$52,560 NO	\$315.00	\$45,360.00
LB/SY PER 6" DEPTH), A:	SUBGRADE STABILIZATION (8% FLY ASH BY WEIGHT, 42 S REQUIRED BY SOIL CONDITIONS AND APPROVED BY EER, COMPLETE IN PLACE	TON	334	\$140.00	\$46,760.00	\$154.00	\$. 136.00	\$135.00	\$45,090.00
6 4" X 12" REINFORCED CO SPECIFICATIONS), COM	ONCRETE CURB, (PER MONTGOMERY COUNTY PLETE IN PLACE	LF	4942	\$3.65	\$18,038.30	\$3 30	.8.60	\$4,00	\$19,768.00
7 6" REINFORCED CONCR SPECIFICATIONS), COMI	ETE CURB (PER MONTGOMERY COUNTY PLETE IN PLACE	LF	2854	\$3.65	\$10,417.10	3.30	\$9,418.20	\$4.00	\$11,416.00
	ONTROL DEVICES AS PER DETAILS ON THE PLANS, TTONS, STREET SIGNS, STOP SIGNS, PAVEMENT C., COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00		\$10,000.00	\$5,300.00	\$5,300.00
9 4" SQUARE DOUBLE REF LOCATION, COMPLETE I	FLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT N PLACE	EA	11	\$18.00	\$1987	\$15.00	\$165.00	\$15.00	\$165.00
10 WHEELCHAIR RAMPS PI	ER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	16	\$1,600.00	\$24 7,0	\$2,000.00	\$32,000.00	\$2,100.00	\$33,600.00
11 EXTRA SIGN, COMPLETE	E IN PLACE	EA	1	\$500,00	₹500	\$650.00	\$650.00	\$400,00	\$400,00
12 REMOVE EXISTING TYPE	E III BARRICADE, COMPLETE IN PLACE	EA	4	\$25.00	- 70	\$100.00	\$400.00	\$1.00	\$4.00
13 FINAL GRADING OF ALL COMPLETE IN PLACE	LOTS, RESERVES AND ROADWAY AS PER GRADING PLAN,	LS	1	\$50,000.00	\$50,000,00	\$46,500.00	\$46,500.00	\$25,000.00	\$25,000.00
14 CONNECT PROPOSED 6' COMPLETE IN PLACE	* CONCRETE PAVEMENT TO EXISTING 6" PAVEMENT,	LF	112	\$15.00	\$1,680.00	\$35.00	\$3,920.00	\$50.00	\$5,600.00
R.O.W. AND LOT FILL (PE PLACING AND COMPACT	O.W., AND LOT EXCAVATION TO BE USED FOR ONSITE ER GRADING PLAN), INCLUDES EXCAVATION HAULING, TION TO 95% STANDARD PROCTOR DENSITY WITH HIN 0.5 MILES OF COLTON OVERALL DEVELOPMENT LACE	CY	12693	* an	\$73,619.40	\$6.25	\$79,331.25	\$5,00	\$63,465.00
SHOWING ELEVATIONS. LOT, SIGNIFICANT GRAD ADDITIONAL PAY FOR RI ARE ACCEPTED BY THE TO THE GRADING PLAN, INCLUDES A CERTIFIED COORDINATE WITH LJA	IDE AS BUILT SURVEY AT THE END OF CONSTRUCTION AT THE TOP OF CURB, ROW, BUILDING LINE, BACK OF EBREAKS AND EXTREME EVENT SWALES (NO EMOBILIZATION OF DIRT EQUIPMENT UNTIL THE LOTS DEVELOPER. IF THE LOTS ARE NOT BUILT ACCORDING THEY WILL BE REGRADED AT NO SEPARATE PAY), EXHIBIT AND AN AUTOCAD FILE OF SURVEY, ENGINEERING, INC., BENJAMIN LOWE, 713.953.5293 NLY VIGINEER, COMPLETE IN PLACE	LS		\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00

PAVING ITEMS - SECTION 1 SUBTOTAL:

\$1,114,648.80

\$1,124,136.80

\$1,125,668.00

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024
LJA ENGINEERING, INC.
D. FORREST
AUGUST 20, 2024
1968-40001 (9.2)

	LJA JOB NO.		19	68-40001 (9.2)						
				4) LEXTON CONST	RUCTION, LLC	5) HC	3	6) R CONSTRUCTION CIVIL, LLC		
	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TAL COST	
	MISCELLANEOUS ITEMS				10112 0001	ONIT COOT	TOTAL COST	DIVIT COST	TOTAL COST	
	1 STANDARD DEDUCT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	-\$100,00	\$0,00	-\$100.00	\$0.00	-\$ 700	\$0.00	
	2 STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00		\$0.00	
	3 RE-ESTABLISH OVERFLOW SWALE, INCLUDES EXCAVATION HAULING AND GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	277	\$2.00	\$554.00	\$5.65	\$1,565.05	. 0	\$554.00	
	MISCELLANEOUS ITEMS SUBTOTAL:				\$554.00		\$ 45.05		\$554.00	
	ALTERNATE BID NO. 1				V		35.55		3004.00	
	1 REMOVE AND DISPOSE OF EXISTING 15' WIDE CRUSHED LIMESTONE ACCESS ROAD, COMPLETE IN PLACE	SY	5790	\$2.60	\$15,054.00	\$4.00	\$2. 700	\$10.00	\$57,900.00	
	ALTERNATE BID NO. 1 SUBTOTAL:				\$15,054.00		en., ±0.00		\$57,900.00	
	ALTERNATE BID NO. 2								401,000.00	
	1 SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$10,000.00	\$10,000,00	۵۰ کرد 00	\$12,000.00	\$9,300,00	\$9,300.00	
	2 ADDITIONAL UNIT COST FOR 5-1/2 SACK CONCRETE FOR 6-INCH PAVEMENT (REINFORCING, TESTING, AND ANY OTHER APPURTENANCES, IN ACCORDANCE WITH MONTGOMERY COUNTY SPECIFICATIONS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	SY	14105	\$1.05	\$14,810.25	'2.00	\$28,210.00	\$1,05	\$14,810.25	
	3 ADDITIONAL 6" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	SY	15865	\$3.60	\$5 4.00	\$6.00	\$95,190.00	\$2.00	\$31,730.00	
	4 ADDITIONAL LIME FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	127	\$413.00	\$52, 00	\$365.00	\$46,355,00	\$200,00	\$25,400.00	
	5 ADDITIONAL FLY ASH MIXTURE FOR SUBGRADE STABILIZATION (8% FLY ASH BY WEIGHT, 42 LB/SY PER 5" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE"	TON	334	.40.00	\$46,760.00	\$154.00	\$51,436,00	\$110.00	\$36,740.00	
	6 ADDITIONAL CEMENT STABILIZIED FOR SUBGRADE STABILIZATION (6% CEMENT STABILIZED SAND BY WEIGHT, 33 LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	262	\$235.00	\$61,570.00	\$448.00	\$117,376.00	\$200.00	\$52,400.00	
1	ALTERNATE BID NO. 2 SUBTOTAL:				\$242,705.25		\$350,567.00		\$170,380.25	
E	BIDDING SUMMARY								,	
	SUBTOTAL PAVING ITEMS - SECTION 1				\$1,114,648.80		*********			
	SUBTOTAL MISCELLANEOUS ITEMS				\$1,114,040.00		\$1,124,136.80		\$1,125,668.00	
1	TOTAL AMOUNT BASE BID				\$1,115,202.80		\$1,565.05		\$554.00	
	ALTERNATE BID NO. 1				#1,110,EUE.6U		\$1,125,701.65		\$1,126,222.00	
	TOTAL AMOUNT BASE BID				84 44E 000 00					
	SUBTOTAL ALTERNATE BID NO. 1				\$1,115,202.80		\$1,125,701.85		\$1,126,222.00	
	TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1				\$15,054.00		\$23,160.00		\$57,900.00	
					\$1,130,256.80		\$1,148,861.85		\$1,184,122.00	

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE COLTON™ SECTION 1 MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS AUGUST 16, 2024 LJA ENGINEERING, INC.
D. FORREST AUGUST 20, 2024 1988-40001 (9.2)

4) LEXTON CONSTRUCTION, LLC

5) HCG

UNIT COST

6) R CONSTRUCTION CIVIL, LLC

ITEM

DESCRIPTION

UNIT

QTY

TY

UNIT COST

TOTAL COST

TOTAL COST

UNIT COST

... TAL COST

ALTERNATE BID NO. 2

TOTAL AMOUNT BASE BID

SUBTOTAL ALTERNATE BID NO. 2

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 2

\$1,115,202.80 \$242,705.25

\$1,357,908.05

\$1,125,701.85 \$350,567.00

\$1,476,268.85

\$1,126,222.00 \$170,380,25

\$1,296,602.25